A = /= 4>
= & M F B # F Ox
(HAL . TH)
SERY 2 T4 BE AR 264 i i %
= B % 10359 HERRLL %
THREE(A) TEAH(B) (A)-(B)
(%) (%) (%)
— ke = b 40, 660, 000 | 43.2 40, 080, 000 | 43.5 580, 000 1.4
B R BE R bR F ¥ 12,980,000 | 12.6 11,732,000 | 13.9 1, 248, 000 10.6
w5 Kk E F ¥ 40, 300 0.0 33, 200 0.0 7,100 21. 4
K
B E K HE K FOE 583, 400 0.6 519, 000 0.6 64, 400 12.4
| -
Al I R R A 9,493,000 | 10.1 9,345,800 | 10.1 147, 200 1.6
PR I g i 8,216,200 | 10.2 9, 464, 400 8.8 | A1, 248, 200 A13.2
ey
T 2 M # & sk &F ¥ 112, 700 0.2 185, 100 0.1 AT2, 400 A39. 1
%
% O oE B EE E 1, 232, 600 1.4 1, 282, 300 1.3 A49, 700 A3.9
B 32,658,200 | 35.1 32,561,800 | 34.8 96, 400 0.3
7K T = £ 3, 098, 200 3.5 3, 241, 700 3.3 A 143, 500 A4 4
1
- N H T oK EOHE ¥ 8, 267, 200 8.7 8,104, 100 8.8 163, 100 2.0
AN
=9 57 = £ 9, 006, 000 9.5 8, 770, 000 9.6 236, 000 2.7
&t
2 20,371,400 | 21.7 20,115,800 | 21.7 255, 600 1.3
& 2 93, 689, 600 | 100. 0 92, 757,600 | 100.0 932, 000 1.0
[EHamiTs]l — & & F 9, 200, 094
¥Rl & E#t 6, 500
= ¥ = i 1,217,400
& F 10, 423, 994




— =5 AT EEE
% A (AL - T-F)
RS2 T RS 264 t. %
K bl MRk MRk e i R
THEAE(A) THA(B) (A)-(B)
(%) (%) (%)

1 il fi | 15,800,000 | 38.9 | 15,500,000 | 38.7 300, 000 1.9
2 M 5 #E 5 B 339, 000 0.8 370, 000 0.9 A31, 000 A8. 4
3 X o7 E® ox A & 35, 000 0.1 48, 000 0.1 A13,000 | A27.1
4 BOoY OB R & 45, 000 0.1 40, 000 0.1 5, 000 12.5
5  MRGERRIEFTSEI AT 37,000 0.1 12, 000 0.0 25, 000 208. 3
6 M7 OB & A & | 1,870,000 4.6 [ 1,300,000 3.2 570, 000 43. 8
7 F 7GR B AR AT 63, 000 0.2 60, 000 0.2 3,000 5.0
8 A ) H ISR A A & 60, 000 0.2 60, 000 0.2 0 0.0
9 E%%@J{tﬁgngﬁ //if 275,000 | 0.7 270,000 | 0.7 5, 000 1.9
10 M 5 OB 2 A & 60, 000 0.2 60, 000 0.1 0 0.0
1 # k% & A BL| 5,870,000 | 14.4 | 6,080,000 | 15.2 210, 000 N3.5
¥ @ & A Bi| 5,200,000 | 12.8 | 5,400,000 | 13.5 /200, 000 N3.7
oo & B 670, 000 1.6 680, 000 1.7 10, 000 AL.5

12 A8 SRR 2 A 4 15, 000 0.0 17, 000 0.0 A2,000 | Al11.8
13 & Kk OA#E e 379, 741 0.9 961, 745 2.4 A582,004 | A60.5
14 B & O F BB 580, 886 1.4 581, 679 1.5 AT93 NO. 1
15 E % M 4| 6,799,157 | 16.7 | 6,371,854 | 15.9 421, 303 6.7
16 I X i 4| 2,778,318 | 6.8 | 2,767,596 | 6.9 10, 722 0.4
17 W JEE I A 173, 960 0.4 172,616 0.4 1, 344 0.8
18 % 75} 4 14,298 | 0.0 30, 071 0.1 A15,773 | AB2.5
19 f& A 4 715, 706 1.8 566, 955 1.4 148, 751 26.2
20 f& i 4 1 0.0 1 0.0 0 0.0
21 I A 696, 233 1.7 606, 783 1.5 89, 450 14.7
22 T & | 4,052,700 | 10.0 | 4,203,700 | 10.5 A151, 000 A3.6
Be e W B kb R OfE | 2,120,000 5.2 | 2,650,000 6.6 AB530,000 | A20.0
WU M O 200, 000 0.5 0 0.0 200, 000 Heop

z o M oo O fF| 1,732,700 | 4.3 | 1,553,700 | 3.9 179, 000 11.5

& at 40, 660, 000 | 100.0 | 40, 080,000 | 100.0 580, 000 1.4




— B A = + ==~
e £ &t ;R P E &
% (BAL : FH)
SR 2 TR Rk 264 t 3z
& A . FEAREL FEAREL fir
THREE(A) THEEE(B) (A)-(B)
(%) (%) (%)

1 £ # 398, 585 1.0 393, 506 1.0 5,079 1.3
2 % # 3,703, 743 9.1 3, 699, 891 9.2 3, 852 0.1
3 R Vs # | 13,423,285 33.0 | 14,037,444 35.0 A614, 159 A4, 4
4 5 Vs 2 2,596, 166 6. 4 2, 464, 556 6.1 131, 610 5.3
5 % i) # 9, 270 0.0 13, 810 0.0 A4, 540 A32.9
6 = O Kk FE ¥ 1, 452, 406 3.6 1, 025, 064 2.6 427, 342 41.7
7 7 T # 749, 321 1.8 800, 473 2.0 A51, 152 A6, 4
8 =+ S iy 5, 568, 970 13.8 5, 487, 203 13.7 81, 767 1.5
9 4 193] iy 2,048, 881 5.0 1,727, 414 4.3 321, 467 18.6
10 # = # 4,122, 835 10. 1 3, 840, 187 9.6 282, 648 7.4
1 % % # 1B % 1 0.0 1 0.0 0 0.0
12 N 1& & 6, 576, 537 16. 2 6, 580, 451 16. 4 A3,914 AO. 1
13 ¥ i # 10, 000 0.0 10, 000 0.0 0 0.0

& 2 40, 660, 000 | 100.0 | 40,080,000 | 100.0 580, 000 1.4




5 A ¥ HE %
[— #& = &) (BAL : M)
W% 2 T4 E SRR 264 FE e L%
1A H HERR EE HERK L i =
THE(A) FTHAE(B) (A)-(B)
(%) (%) (%)

# % £ e 2 | 20,299,114 | 50.0 | 20,915,702 | 52.2 /616, 588 AN2.9
A 7 # | 5,510,661 | 13.6 | 5,890,692 | 14.7 /380, 031 N6.5

2> 0b R OF 361, 000 0.9 694, 000 1.7 /333, 000 /A\48. 0

B B # | 8,211,953 | 20.2 | 8,444,610 | 21.1 A232, 657 N2.8

2N & # | 6,576,500 | 16.2 | 6,580,400 | 16.4 A3, 900 AO0. 1

— % 17 i5'g # | 8,311,015 | 20.4 | 8,246,813 | 20.5 64, 202 0.8
¥ 7 # | 5,619,123 | 13.8 | 5,384,584 | 13.4 234, 539 4.4

1t Bl # A |2,292,393 | 5.6 | 2,451,199 | 6.1 /158, 806 N6.5

ST 4 171,838 | 0.4 140,186 | 0.3 31, 652 22.6

g Lk &' & 0] 0.0 0] 0.0 0 0.0

= it 4 227,661 | 0.6 270,844 | 0.7 A43,183 |  A15.9

HE £ i & % 169,545 | 0.4 167,508 | 0.4 2,037 1.2
& =5 i % # | 5,393,791 | 13.3 | 4,389,679 | 11.0 1,004, 112 22.9
Wowm B R F ¥ O#H | 5,393,790 | 13.3 | 4,389,678 | 11.0 1,004, 112 22.9
W # | 3,276,242 | 8.1 | 2,441,802 | 6.1 834, 440 34.2

B # | 2,117,548 | 5.2 | 1,947,876 | 4.9 169, 672 8.7

K HF H B F X B 1 0.0 1 0.0 0 0.0

e D ftt | 6,486,535 | 15.9 | 6,360,298 | 15.9 126, 237 2.0
& H 4| 6,343,649 | 15.6 | 6,199,522 | 15.5 144, 127 2.3

¥ M A A & 132, 886 0.3 150, 776 0.4 A17, 890 A11.9

fii 2 10,000 | 0.0 10,000 | 0.0 0 0.0

& = 40, 660, 000 | 100.0 | 40, 080, 000 |100.0 580, 000 1.4




m & O K

(BAZ 2 TM)
SERR2THE E ER% 264F i %
B : FERRIT LT W
THEEE(A) THEE(B) (A)-(B)
(%) (%) (%)
I & 18 Bi | 14, 864, 000 94.1 | 14, 556, 000 93.9 308, 000 2.1
1 B’ B 7,400,000 46. 8 6, 970, 000 44.9 430, 000 6.2
1 A | 5,500,000 34.8 5, 370, 000 34,6 130, 000 2.4
% A 1, 900, 000 12.0 1, 600, 000 10.3 300, 000 18.8
2 E T E OB 6, 500, 000 41.2 6, 598, 000 42.6 A98, 000 Al.5
E & FE BL| s, 482,000 41.1 6, 580, 000 42.5 A98, 000 A1.5
A2 fF & 18, 000 0.1 18, 000 0.1 0 0.0
3 % B @ #H B 220, 000 1.4 215, 000 1.4 5, 000 2.3
4 i = F Z B 744, 000 4.7 773, 000 5.0 A29, 000 A3.8
I H Q] i 936, 000 5.9 944, 000 6.1 A8, 000 AO. 8
1 A N i 49, 000 0.3 47,000 0.3 2,000 4.3
2 K ™ FH ® i 887, 000 5.6 897, 000 5.8 A 10, 000 Al. 1
a g 15,800, 000 | 100.0 | 15,500,000 | 100.0 300, 000 1.9




